Pieved'.

1cm= 10 mm

2cm=_ mm
3cm=__  mm
4decm=__ mm
dSecm=_  mm
6cm=__  mm
1dm= 10cm

3dm= __ cm
S5dm= ___  c¢cm
7dm= __ cm
9dm= __  cm
1m= 10dm

2m=__  dm
3m= _  dm
4m= __  dm
Sm= __  dm
6m=___  dm
Tm= dm

ucebnice s. 3—4

scm=_  mm
50cm=_ mm
28 cm=_ mm
13 cm=mh1m
46 cm=mm[n
8tcm=_ mm
4dm=_ cm
24dm= cm
43dm=Wcm
34 dm="______k____cmr
48dm=  ocm
8m=_ dm
81 m=/”;___;dm |
38m=_ dm
| 45m=m:mdm
‘39m=;~;___dm
12m= dm
- 60m=  dm

6m7dm= _  dm
9m6édm= _  dm
2m8dm= _  dm
Smb5dm= _  dm
»4m2nd'm= ____dm
3m9dm= __ dm
2ecm7mm=__  mm
6ecm1mm=__  mm
9cmdmm= __ mm
dcm2mm=__ mm
9cm9mm=__  mm
6cm7mm=__ mm
9dm2cm= __ cm
7dm3cm= __  cm
8dm2cm= _  cm
9dm4cm= __  cm
6dm6écem= __ cm
Sdm8cm= __  cm




